6 4 3 2 1
| 4 | |
ITEM NO.|PART NUMBER DESCRIPTION Material Color Flame Rafing QTY.
1 WP-20B*15 WP BASE, W/PCB MOUNTING BOSSES POLYCARBONATE| LIGHT GRAY |UL?24-HB (UL FILE E41613)

1

2 WP-20C*15 WP COVER ONLY, W/GASKET POLYCARBONATE| LIGHT GRAY |UL94-HB (UL FILE E41613) 1
3 SCREWS-SSM4-20-4 ASSEMBLY SCREWS, 4 PACK 1
3.1 SCREWS-SSM4-20 - [M4X0.7 X 20mm OAL, PHILLIPS DRIVE MACHINE SCREW| STAINLESS STEEL 4

SECTION A-A
—~—(1.190 )——
~—(.998 )=
e /‘f;;r@\l - I
i
]
; | =’ ;/i//” | Ii
A e I
Lo :
+£= | | —
= —— _— |
p= <Agr { 1=
1]
[ i}
[ ! 2
[ ! 524
.. O i / | 2924)
1 _ | I:I:HI
- et ANy i i N
1E=3 Agk-= ! .
TF=5 NN !
I W i iy
[ 1 Wil !
r1_ i 5Z=24
oo +4i- 1 =8
TT 1 ] 7\
iR W oo @) I
Ll NSE==============7y A
————— T O NS===============% =—7 | Y V

PCB BOSSES ACCEPT M3J
METRIC OR #4 STD. THREAD
FORMING SCREWS
(NOT SUPPLIED)

AN —_ TRV ]
o — T — == "'_?ﬁ'r

= Eﬂr_:@% ' ‘
i A (1.380)

i il b —dyl
i Iy 1l
I il 1!

1 i B
SO R -

-~ (2292 ) ———

WP-20B*15-PCB
PCB TEMPLATE FOR WP-20B*15
REF. ONLY

NOTES:

1. ENCLOSURE DESIGNED TO NEMA 1, 2, 4, 4X, 12, 13.

2. UL LISTED TO UL508-4X SPECIFICATIONS (UL FILE E194432).
3. SERVICE TEMPERATURE: -40°C TO 120°C

4. MOUNTING FLANGE KITS ARE AVAILABLE FROM POLYCASE.

UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm] *
TOLERANCES: ANGULAR: £2° WP-20%15
TWO PLACE DECIMAL: +.030
THREE PLACE DECIMAL: +.015 MATERIAL
PRINTED GRAPHICS: +.010

PH#: 1-800-248-1233, 440-934-0444 FAXH: 440-934-0088

I ) 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION contaned INTHIs | FLAME RATING SIZE WP UNIT, W/MOUNTING REV
DRAWING IS THE SOLE PROPERTY OF | |JL94-HB B BOSSES, WITH GASKET, 0 ‘I
-01 UPDATED PCB BOSS NOTE D.M.F. D.M.l':. 9/7/2011 Pg‘-;:?f\-/\/:g&ﬁﬁffg&ﬂg;‘v:Q';EANRT NAME SATE LIGHT GRAY o
REV. DESCRIPTION ZONE| BY |APPR'D| DATE PERMISSION OF POLYCASE IS PROHIBITED. | DRAWN | D.M.F. [ 1/27/2011 SCALE: 1-1 | | SHEET 1 OF 1
REVISIONS CAD FILE: WP-20+15 CHECKED | B.M.B. [1/28/2011 s I @G

8 / 6 | 5 ' 4 | 3 | 2 1



¥
( IL_L:IH—___‘!___}—::H___;___ III|J_ Iﬂ
H Irh 1l el e
Il i T n
1l i Iy 1]
i o
VYT I
ot iy
AX R 235 SECTION B-B
: 2X @172
2X ©.230 4X BRASS INSERT _\ + —= 4X .315
I 1 AAae ] M4X0.7 *
O~ 2X 474 4X @313
v RS 8X R.113 *
| b g
i A =
[
| 2 504 L 2X 394 4X .065JA
| | }
=3---====h
E : | 121 TYP. —¢ / 90.39° TYP.
L O\ —— P~ 91.53° TYP.
:_—T'f:::::’:'f‘_‘_‘%: Y 7 ; WL /fA
2X 3 .0907 .190 _/ * /
PCB BOSSES ACCEPT M3 METRIC OR
#4 STD. THREAD FORMING SCREWS
(NOT SUPPLIED)
HE
T i J
- T
ll ‘lulll —=TTTT—— IIlli-'II Il
(5
2X 497 =—n I -8;4
2X 064 +——=f =— 1 081
“{2x 650~ =t 039 +'_O"f840

o

2X .100 i 240
1 T A W 2X 192 + ¢

* L.]OO

= 2X .055
SECT|ON A-A UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN:INCHES[mm] | \\/p_o)R*]5
TOLERANCES: ANGULAR: £2
TWO PLACE DECIMAL: +.030 MATERIAL pO < OS< E
THREE PLACE DECIMAL: +.015
NOTES: _ranteo Gearcs o0 | POLYCARBONATE e L
1. COLOR: LIGHT GRAY THE INFORMATION conTanep InTrs | FLAME RATING SIZE WP BASE, W/PCB REV
DRAWING IS THE SOLE PROPERTY OF | |J| 94-HB (UL FILE E41613) MOUNTING BOSSES O‘I
-01 UPDATED PCB BOSS NOTE D.M.F.]D.M.F. [ 9/7/2011 | POLICASE ANY REPRODUCTON IN PART NAME | DATE B =
EV. DESCRIPTION ZONE| BY |APPR'D DATE PERMISSION OF POLYCASE IS PROHIBITED. | DRAWN | D.M.F. [ 3/31/2010 .
REVISIONS CAD FILE: WP-20B+15 CHECKED | B.M.B. [1/28/2011 SCALE: 111 I| @G | SHEET T OF 1

8 7 6 5 4 3 ! 2 1




8 7 6 5 . 4 3 2 1
=~ ————— === =T
R i
[ i) — gt
—— = 4X .124
(113 i SEER o NS 2 —L
il = @f s N \@3 4XP 172 4X ¢.310
| :-:%i =T N4 1 N=0
iF=T17] .| | i =Y }
I | |_ qll | /Il ” ‘|\| !
b I__u N s/ 11 1o
[Ti— = | ==/ 1
S = It
N B N i ¥ g
o 2.519 . il i
1 : - Il p i
Lo | o i i
- - il =)
== F3-=1 i =
:!___|_ —'L—%'i . it : 71— 91.14°TYP.
— N _S=3N 1
L=c 2X 355 J 2= =N, e (Y91 14TYP.
e I 2X -'530 ALl Ol erceceeeee: ) )@
-+ L] T S e N
4X R.235
SILICONE GASKET
8X R.052
SECTION A-A
i T
Pt o S
2X .550 -
oX 065 — = 92X 170 — = 180 TYP.
# _ *
2X .060 — L 090
SECTION B-B '
UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm]
. oy WP-20C*15
s e | WP 20CT] ol case
THREE PLACE DECIMAL: +.015
NOTES: PRINTED GRAPHICS: £.010 POLYCARBONATE e R00-M8-1245 A0S OH P Aok 1068
1. COLOR: LIGHT GRAY THE NEORMATION Contanzo s | FLAME RATING SIZE WP COVER ONLY, REV
DRAWING I THE SOLE PROPERTY OF | |JL94-HB (UL FILE E41613) W/GASKET
POLYCASE. ANY REPRODUCTION IN PART NAME SATE B -
REV.] DESCRIPTION [ZONE[_BY |APPRD] _DAIE SN o A B ME 133172
| REVISIONS S iy T By Taasraoit] SCALE: 151 | €@« [ SHEET1OF |
8 7 6 5 4 3 ! 2 ! 1




— N <
o~ M —
Oy V0

2X R.297

+\

— .753 I

+)
P

- —4

2X R.274
8X R.079

(+

\+

o
N\

—0

\+

/

2X ©.135

1.107 i

394
375

375 ]
394

753

1.107 -

NOTES:

1. INCLUDES .030 CLEARANCE FROM INTERIOR OF WP-20B*15.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: #2°
TWO PLACE DECIMAL: £.010
THREE PLACE DECIMAL: +.005
PRINTED GRAPHICS: +.010

PART NO.
WP-20B*15-PCB

-.01

®.135 WAS @.125

D.M.F.

D.M.F.

9/7/2011

REV.

DESCRIPTION

ZONE

BY

APPR'D

DATE

REVISIONS

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN
PERMISSION OF POLYCASE IS PROHIBITED.

MATERIAL

I ) 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.

PH#: 1-800-248-1233, 440-934-0444 FAXH: 440-934-0088

FLAME RATING

NAME DATE

DRAWN D.M.F. | 1/27/2011

SIZE

A

PCB TEMPLATE FOR WP-
20B*15

REV

-.01

CAD FILE: WP-20B+15-PCB

CHECKED | B.M.B. [1/28/2011

SCALE: 1:1 |

Aoass]

| SHEET1 OF 1

3

2

1



Enable 3D View




	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Drawing View5
	Drawing View6
	Drawing View7

	WP-20B+15.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Section View B-B
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10


	WP-20C+15.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Section View B-B
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12


	WP-20B+15-PCB.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4



